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Question No.1 Marks: 1.00

Bookmark
The Khajuraho Group of monuments depicts which of the following forms of
architecture?

WORTE! WR®| &1 YHE, aRgHdl & MUfARad ¥Ul # ¥ HIH-1 S=idT g2
(A) O Neo gothic
—a4d

(B) O Dravida (Chosen option)
FES]

(©) O Veséra
IR

(D) O Nagara (Correct Answer)
AR

Question No.2 Marks: 1.00

Bookmark
On which day every year is National Police Commemoration Day observed?

TR TS AP Gfery FRUNTd faay fovs ot wman S g2
(A) O 19t October (Chosen option)
19t 3rageR
(B) O 19t November
19t TR
(C) O 218t November
21St9arR
(D) O 218t October (Correct Answer)
215t I[FgeR

Question No.3 Marks: 1.00
Bookmark
Who is the author of the book titled "The Very, Extremely, Most Naughty Asura Tales for
Kids"?
"g I3, TEE I, ke AIET TRRT ¢ B [hgq” A T® & aad DI 672
(A) O M.Rajeswar Rao
TH. ISR G
(B) © Dinesh Kumar Khara
f&As puR @R
(C) O Padmapani Bora (Chosen option)

(D) O Anand Neelakantan (Correct Answer)
3THg Aeadb s

Question No.4 Marks: 1.00
Bookmark

In which year was Deen Dayal Antyodaya treatment scheme launched in Madhya
mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html 1/26


Free Hand


1/5/2021

(A) O
(B) O
(€)O
(D) O
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Pradesh?

T Uex H gHedd Sidied IUAR Aol fhd a8 JRe &1 718 17

2007
2007

2001
2001

2004 (Correct Answer)
2004

2010 (Chosen option)
2010

(A) O
(B) O
(€) O

(D) O

Question No.5

The text Nalayira Divya Prabandham was composed by the

AR f&ed Usw A% U=l &t 51 GRI 1 175 At

Sufis (Chosen option)
Jains

Nayanars
AR

Alvars (Correct Answer)
S INEEY

Marks: 1.00
Bookmark

(A) O
(B) O
(€)O

(D) O

Question No.6

Which of the following sports stadium is NOT located in Madhya Pradesh?

it & ¥ oH-91 9 Rieuw qe uew # g gt 87

Nehru Stadium (Chosen option)
wfsay
Kalinga Stadium (Correct Answer)

Holkar Cricket Stadium

BlehR fpope wfgad

Tatya Tope nagar stadium

T TlY TR TfsaH

Marks: 1.00
Bookmark

g7
(A) O

(D) O

Question No.7

The outstanding power bill waiver scheme and subsidized power scheme ‘Sambal’ is
associated with which state government?

FhTT foetel! foet ATwt diemT iR Ramad fasrel aomT gae f5d o0 ReR I dafgd

Madhya Pradesh (Correct Answer) (Chosen option)
qH Y

Maharashtra

HERTE

Bihar
fIeR

Uttar Pradesh

IR U

Marks: 1.00
Bookmark

Question No.8

Who is the author of the book titled "Night of the Restless Spirits” stories from 19847?

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html

Marks: 1.00
Bookmark
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1984 "< SIS HI I AT A13E 3 Iy BIReE" AHE TWd & dGD B 872
(A) O Pradeep Kumar Rawat
Ui $HR Mad
(B) O Anand Neelakantan
3 Fierdh e
(C) O Sarbpreet Singh (Correct Answer)
waid R

(D) O Rajiv Gauba (Chosen option)
HEICRIE]

Question No.9 Marks: 1.00
Bookmark
Who among the following from Madhya Pradesh has received the Padma Shri Award in
2018 for Arts?

T yeR oy § fafofad & 9 foram &ar & fag 2018 H U371 off R v fasa g2
(A) O Kailash Madbaiya (Chosen option)
ar

(B) O Malti Joshi

(C) O Pratap Singh Hardia
g g giféan

(D) O Yogendra (Correct Answer)

Question No.10 Marks: 1.00

Bookmark
Which one of the following waterfalls is situated on the river Sellar in Madhya Pradesh?

fFafafed & 9 HH-91 Sayurd A& v § IeR ot W Rua 872
(A) O Bahuti (Correct Answer)

(B) O Chachai
EEIE]

(C) O Raneh (Chosen option)
rEr

(D) O Pandav
CIEE

Question No.11 Marks: 1.00

Bookmark
The Rewa Solar Project has received the Group President’s Award for
innovation and excellence.

%ﬁm@vuﬁwﬁddmu 3R IP T & fow THE 3 DT RIBR UI g3l
I
(A) O World Bank (Correct Answer)
fay dw
(B) O United Nation
Y XY
(C) O World Trade Organisation
fay TR 3=
(D) O Asian Development Bank (Chosen option)
uRmrE fasrg o

Question No.12 Marks: 1.00
Bookmark

What was the period for the Planning Commission's Twelfth Five Year Plan (FYP) in
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India?
YRA H IISHT 3TNT & IRE4! Gaaufa QieT (FYP) Bt 3rafd o oft?
(A) O 2004-2009 (Chosen option)

2004-2009
(B) O 2012-2017 (Correct Answer)

2012-2017

(C) O 2014-2019
2014-2019

(D) O 2010-2015
2010-2015

Question No.13 Marks: 1.00

Bookmark
Who among the following was posthumously awarded the Padma Vibhushan Award for
2020 in the Public Affairs domain?

Fafiied & ¥ fod IRuNRId Adeie qmdl & & 8 2020 & T U1 [y [ResR 4§
T fobam 3T 12
(A) O Pranab Mukherjee
PRER:ES
(B) O Atal Bihari Vajpayee (Chosen option)
3req fagr
(C) O Arun Jaitley (Correct Answer)
30T Sedt
(D) O A.P.J. Abdul Kalam
T Ul 9. 3fsgd HaH

Question No.14 Marks: 1.00

Bookmark
Narendra Modi is the first Indian who received ‘Order of St. Andrew’ award. When was
this awarded to him?

T A} Tget R § g “3ifR 3ifh Te Tsy REBR UI g3l I8 I &d UeH fobar
T UT?
(A) O 12 April 2020
12 30 2020
(B) O 12 April 2017
12 30 2017
(C) O 12 April 2019 (Correct Answer) (Chosen option)
12 370 2019
(D) O 12 June 2019
12 57 2019

Question No.15 Marks: 1.00

Bookmark
Who was the Persian that was appointed by Asoka to administer the western province?

ufgdt gid &1 =R v & o 3R gRT g R &1 912
(A) O Tusaspa (Correct Answer) (Chosen option)

qurg
(B) O Sunasepa

(C) O Justine
I
(D) O Plutarch

Question No.16 Marks: 1.00
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Shivraj Singh Chauhan became the Chief Minister of Madhya Pradesh for the first time
in the year .

Rraxret Rig g ad H Ugcll IR A U™ & PRI & |
(A) O 2013
2013

(B) O 2005 (Correct Answer)
2005

(C) O 1998 (Chosen option)
1998

(D) O 1990
1990

Bookmark

Question No.17

Ustad Amjad Ali Khan is known as the maestro of which of the following musical
instruments?
G SHele 1ol @ &t fafafad & & ford are 39 & Iwig & FU 8 S 911 67
(A) O Guitar

feR

(B) O Sitar (Chosen option)
RyaR
(C) © Violin

(D) O Sarod (Correct Answer)
Wig

Marks: 1.00
Bookmark

Question No.18

Who has been recently honoured with Asia Game Changer Award-2020 by Asia
Society?
BT B & TR st gRT TR 19 IoR 31a1S -2020 ¥ 5 wEfAd fova mar g2
(A) O Vikas Kapoor

fapr g v
(B) O Vikas Khan

for @
(C) O Vikas Khanna (Correct Answer)

41

(D) O Vikas Gupta (Chosen option)
RISl

Marks: 1.00
Bookmark

Question No.19

Prior to taking over as Chief Minister of Madhya Pradesh, Kamal Nath was Member of
Parliament (Lok Sabha) from

T TR B T & WY B HIEUR ST & UEd, SHGT IR
(@) A
A) O Chindwara (Correct Answer) (Chosen option)

(B) O Sehore
e

(C) O Umariya
AR

(D) O Shahdhol

Marks: 1.00
Bookmark
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Question No.20 Marks: 1.00
Bookmark
After India’s Independence, in 1950 the Madhya Pradesh state was created with which
city as its capital?

YR ! Wdadl & 91, 1950 H AL TS Iy 1 (A0 f5g g & a1y far man, o fs
3P ISYH & =Y H UT?
(A) O Gwalior

TaTfeER

(B) O Nagpur (Correct Answer) (Chosen option)

AR
(C) O Raipur
AR
(D) O Ujjain
IsH

GENERAL HINDI - GENERAL HINDI

Question No.1 Marks: 1.00
X Bookmark
frofefed o @ oH-a1 Tee 31 37

(A) O WY (Correct Answer) (Chosen option)

B)O 3§
(C) O uwr

(D) O dfea

Question No.2 Marks: 1.00

Bookmark
A, T TUT 3 ol Wea & gargare g2
(A) O bad
(B) O g
(C)O Uus

(D) O UgTS (Correct Answer) (Chosen option)

Question No.3 Marks: 1.00
Bookmark
5 Ue &t T U A §S 82
(A) O gwd
(B) O 3fa7uT (Chosen option)
(C) O UI&® (Correct Answer)

(D) O 3MmEA
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Question No.4 Marks: 1.00

Bookmark
frafafed & I Y acd-t &1 997 Sifch|

(A) O THIPRR (Correct Answer) (Chosen option)
(B) O THATHR
(C) O TR

(D) O THIHR

Question No.5 Marks: 1.00
Bookmark

Sl AT HETaR &1 a1 37 g2
(A) O I HIg @

(B) O §gd a1 gl

(C) O W9

(D) O ¥ YT (Correct Answer) (Chosen option)

Question No.6 Marks: 1.00
Bookmark
“3fch: [Iv e T | o R 7 e g 82
(A) O < |fr #T (Correct Answer)

(B) O gl R
(C) O 3fmarfe | BT (Chosen option)
(D) O o 9= &1

Question No.7 Marks: 1.00
Bookmark
fora gu o 99 U g faRIvor &1 S el g2
(A) O 3t
(B) O dqzy

(C) O wgHlif? (Correct Answer) (Chosen option)

D) O R

Question No.8 Marks: 1.00
Bookmark

U, A a4 $gH 69 Weg & Tioar g2
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(A) O wd
(B) O o
C©) O gu

(D) O % (Correct Answer) (Chosen option)

Question No.9 Marks: 1.00
Bookmark
T 5 T &1 Rt Hid 82
(A) O =1id
(B) O 94T (Correct Answer) (Chosen option)
(C)O Az

(D) O 3rgyd

Question No.10 Marks: 1.00
Bookmark

I faT U Wsg &1 fadiH g 9Tt -

SHET

A) O RIR

(B) O ayfiy

(C) O §frad

(D) O @IMd (Correct Answer) (Chosen option)

Question No.11 Marks: 1.00
Bookmark
IR & & 3T g2
(A) O I 3R U
(B) O Iuw 3R YT (Chosen option)
(C) O fauf iR uforert

(D) O Iex4 3R fadT (Correct Answer)

Question No.12 Marks: 1.00

Bookmark
FP1-3q BI QR @ A
ST ST St & W |
IR Ufed H HH-4T 3R 82
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(A) O IuHr

(B) O 3IUT (Chosen option)

€©)O =y

(D) O gH® (Correct Answer)

Question No.13 Marks: 1.00
Bookmark

fafafea o 9 HH-1 fawe faeRt Teg &1 IR0 82

(A) O IR

B) O &Rk

(C)O 3

(D) O o&IYA (Correct Answer) (Chosen option)

Question No.14 Marks: 1.00
Bookmark
o §f f TG ar@r & oI U Xeg T BRII?
(A) O ¢g

(B) O ¢wfdAT (Correct Answer) (Chosen option)
(C)O &3
(D) O ef=rram

Question No.15 Marks: 1.00
Bookmark
UG WG H HH-I1 ST Ugad 52
A O ¥
(B) O ¥HH (Correct Answer) (Chosen option)
C)O ¥

D)O 4

Question No.16 Marks: 1.00

Bookmark
‘HTEAHTY St = 3T HRIGR AU R I 8, 3@ d 99 Bt S I @ g 1
SUeT a1 H Ugad HgTaR ol 3fad 3 Farsu|

(A) O 3fdrep gy BT
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(B) O gu gl |l

(C) O 3R | Sfta= fSa™T (Correct Answer) (Chosen option)

(D) O WG &1 3ffig; &

Question No.17
for+3mery ¥ b1 & qunf § I g3 872
(A) O emafR 3 H
(B) O 31 3R 3 (Correct Answer) (Chosen option)
(C)O waRaNH
(D) O | 3R M H

Marks: 1.00
Bookmark

Question No.18

2 o 7T e &1 RAudidnde e saTgU -
ot

(A) O dfteq
(B) O ud (Correct Answer)
(C)O 3R

(D) O fASR (Chosen option)

Marks: 1.00
Bookmark

Question No.19
Tt 91 g &t — IR § e A @ HH-91 I g2
(A) O 3fquf Hfawrq w1a

(B) O quf Yd&ra

(C) O FaHH H1d

(D) O 3rquf YaeTel (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.20
ST SHTeHT HET B o foTQ Teb Weq, ot 12
(A) O T
(8) O

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html

Marks: 1.00
Bookmark
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i
(C) O guuf

(D) O WETHT (Correct Answer) (Chosen option)

GENERAL ENGLISH - GENERAL ENGLISH

Question No.1

Fill in the blank with the suitable preposition in the given sentence:

(A) O with (Correct Answer) (Chosen option)
(B) O in
(C) O from

(D) O at

Eating a sumptuous meal off a banana leaf your fingers is extremely satisfying.

Marks: 1.00
Bookmark

Question No.2

Fill in the blanks with the suitable article in the given sentence:
As children, we are taught to speak __ truth and to help __ poor, at all times.

(A) O a,the
(B) O the, no article required
(C) O the, a (Chosen option)

(D) O the, the (Correct Answer)

Marks: 1.00
Bookmark

Question No.3

Choose the CORRECT option.
'Colossal' is most opposite to:

(A) O mammoth
(B) O close
(C) O tiny (Correct Answer)

(D) O graceful (Chosen option)

Marks: 1.00
Bookmark

Question No.4
Which of the following sentences is CORRECT?
(A) O 1 am working now, | will call you latter. (Chosen option)

(B) O I am working now, | will call you later. (Correct Answer)

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html

Marks: 1.00
Bookmark
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(C) O 1 am working now, | will call you late.

(D) O 1 am working now, | will call you latest.

Question No.5 Marks: 1.00
Bookmark
Fill up the blank with the CORRECT option to complete the sentence:
The Shetty family have visited Italy last year, ?
(A) O isit?

(B) O haven't they? (Correct Answer) (Chosen option)
(C) O have they?

(D) O isn'tit?

Question No.6 Marks: 1.00

Bookmark
Choose the CORRECT word to fill in the blank in the given sentence:

The teacher said, “It's impolite to at others”.

(A) O store
(B) O stair (Chosen option)
(C) O stare (Correct Answer)

(D) O star

Question No.7 Marks: 1.00

Bookmark
Choose the CORRECTLY punctuated sentence.

(A) O Tina's baby was born Tuesday, May 14 2007, at 6:02 a.m. at Holy Cross
Hospital.

(B) O Tina's baby was born Tuesday, May 14, 2007, at 6:02 a.m. at Holy Cross
Hospital. (Correct Answer)

(C) O Tina's baby was born, Tuesday May 14 2007, at 6:02 a.m. at Holy Cross
Hospital. (Chosen option)

(D) O Tina's baby was born Tuesday, May 14, 2007, at 6:02 a.m., at Holy Cross
Hospital.

Question No.8 Marks: 1.00

Bookmark
Choose the CORRECT option to fill in the blank in the given sentence:

Henry practiced hard was able to secure the first rank in class.

(A) O and (Correct Answer)

(B) O but

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html 12/26
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(C) O yet (Chosen option)

(D) O for

Question No.9

Fill in the blanks with the CORRECT option in the given sentence:

(A) O too many, a (Correct Answer) (Chosen option)
(B) O much, the
(C) O few, that

(D) O too much, a

Marks: 1.00
Bookmark

There are people in the mall today as it opened after _ six-month lock down.

Question No.10

Fill in the blanks with the suitable tense in the given sentence:

to clean the kitchen cabinets.

(A) O had, fell off, bruised, was trying (Correct Answer)
(B) O had, fallen off, bruising, was trying (Chosen option)
(C) O has, fallen off, had bruised, trying

(D) O had, fell, bruised, was trying

Marks: 1.00
Bookmark

Yesterday Mom an accident. She the ladder and her knee while she

Question No.11

Choose the phrasal verb that best fits the blank in the given sentence:
that last piece of cake. It's mine!

(A) O Hands up (Chosen option)
(B) O Hands down
(C) O Hands back

(D) O Hands off (Correct Answer)

Marks: 1.00
Bookmark

Question No.12
Choose the CORRECT option to fill in the blanks in the given sentence:
when | grow up.

(A) O told, will become

(B) O told, should become (Correct Answer)

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html

| recall an uncle, who me that since | was interested in science, |

Marks: 1.00
Bookmark

a doctor
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(C) O had told, may have become (Chosen option)

(D) O has told, could become

Question No.13 Marks: 1.00

Bookmark
Choose the option which is most similar in meaning to the given word STARVED.

(A) O Deprived
(B) O Disadvantaged (Chosen option)
(C) O Emaciated (Correct Answer)

(D) O Fasting

Question No.14 Marks: 1.00

Bookmark
Choose the CORRECT option to fill in the blank in the given sentence.

Ruddy ducks are in the wild on British lakes or rivers.

(A) O sorare seen (Chosen option)
(B) O too rare seen
(C) O therarest seen

(D) O rarely seen (Correct Answer)

Question No.15 Marks: 1.00

Bookmark
Fill in the blank with the suitable article in the given sentence:

It is very exciting to have career in the travel industry.

(A) O a (Correct Answer) (Chosen option)
(B) O no article required

(C) O the

(D) O an

Question No.16 Marks: 1.00

Bookmark
Choose the word with the correct spelling in the given sentence:

The sounding alarm signalled a in security.

(A) O broach
(B) O breche

(C) O breach (Correct Answer) (Chosen option)

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html 14/26
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(D) O briech
Question No.17 Marks: 1.00
Bookmark
Identify the CORRECT meaning of the highlighted word in the given sentence:
The chemist said that the medicine is a nasal decongestant.
(A) O He meant that the medicine may make your nose bigger.
(B) O He meant that the medicine may congest your nose.
(C) O He meant that the medicine helps to reduce nasal congestion. (Correct
Answer) (Chosen option)
(D) O He meant that the medicine causes nasal congestion.
Question No.18 Marks: 1.00
Bookmark
Fill in the blanks with the suitable preposition in the given sentence:
Keep your family safe numerous drinks of hot water and frequent applications
sanitizers.
(A) O or, to (Chosen option)
(B) O from, of
(C) O with, of (Correct Answer)
(D) O for, of
Question No.19 Marks: 1.00
Bookmark
Fill in the blank with the appropriate modal in the given sentence:
All members of the staff come to the town-hall meeting as attendance is
mandatory.
(A) O can
(B) O must (Correct Answer) (Chosen option)
(C) O will
(D) O shall
Question No.20 Marks: 1.00
Bookmark
Fill in the blanks with the CORRECT pronoun in the given sentence:
___would like to see the flats have constructed.
(A) O Her, she
(B) O My, |
(C) O Him, he

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html 15/26
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(D) O 1, they (Correct Answer) (Chosen option)

GENERAL MATHS - GENERAL MATHS

Question No.1

The product of (/8 — \/-’-Tjiﬁ 8+ \/47]1;2 V64 is:

VBB " (/B+ (B Ver mad

(A) O 8 (Correct Answer) (Chosen option)
8

(B) O 42
42
(C)O 8V2
8v2

(D)O 16
16

Marks: 1.00
Bookmark

Question No.2

If 2x-3y=10 and xy=44, then the value of 8x3-27y3 is:

e 2x-3y=10 3R xy=44 g, I9 8x3-27y3 HT A g:

(A) O 8920 (Correct Answer) (Chosen option)
8920

(B) O 6420
6420
(C)O 7589
7589
(D) O 8649
8649

Marks: 1.00
Bookmark

Question No.3

the incorrect price be increased to reflect the proper new price?

TTad G ®I ford Ufi=Id deb Serl ST anfgy?

(A) O 60%
60%

(B) O 120%
120%

(C) O 300% (Correct Answer) (Chosen option)
300%

(D) O 200%
200%

When the price of gold went up, a jeweller raised the prices on certain rings by 60%. On
one ring, however the price was accidentally reduced by 60%. By what percentage must

Jq UM & SIAdl H Seras! g8 df YR - $8 (34l &I Sl H 60 IR d® & gia
PR | U SIS W, Tt J 60 Ufhrd ! ! 81 715 | IId 75 B1d &l g2 & forg

Marks: 1.00
Bookmark

Question No.4

(A) O 10cm (Chosen option)
10

mppeb_jp.onlineregistrationform.org:8810/QP1/k4+Uplp1jiscLlyFoOfFOA==.html

AXYZ ~ APQR and ar( AXYZ) = 4 ar( APQR).If XZ=16cm,then PR = .
AXYZ ~ APQR 3R &o( AXYZ) = 4 &0(APQR) 8| Tfg XZ=16 I § @ PR=

Marks: 1.00
Bookmark
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(B) O 4cm

4 gt
(C) O 6cm

6 JH!

(D) O 8cm (Correct Answer)
8

Question No.5

25% & 40% pure acid solutions are mixed to obtain 28 litres of 30% pure acid solution.
The quantity of each type of acids to be mixed to form the mixture is:

30% S 3T fAia & 28 e &l UTtd A o oIl 25% Td 40% Y 31 faaa=1i bl
foramar o) fiysor 99 & fRTE Ud® YR & 3l @bt A ©:
(A) O 10, 18

10, 18

(B) O 11.6, 16.4
11.6, 16.4

(C) O 17.3, 10.7 (Chosen option)
17.3,10.7

(D) O 18.7, 9.3 (Correct Answer)
18.7,9.3

Marks: 1.00
Bookmark

Question No.6

1
If iz=64, then x>+ is:
X

|
afe %@1% ar x34x° w7 #Y
(A)O 3
3

(B) O 2/3 (Chosen option)
2/3

(€O 2
2

(D) O 3/2 (Correct Answer)
3/2

Marks: 1.00
Bookmark

Question No.7

A boat goes 12 km upstream and 16 km downstream in 5 hours. Also it covers 16 km
upstream and 24 km downstream in 7 hours. Find the speed of the boat in still water and
that of the stream.

T A9 5 6 F 12 fortft 41 & Ufcda auT 16 Tt oRT & SIdHd St 81 39 I, T8
7 °9¢ T 16 fotll 9RT o Ufdpd T 24 fortlt 9RT & 3rIpd oifell 8 | FRR Tt & qet 4T o
19 ! 9Td J1d B
(A) O 10 km/h, 5 km/h (Chosen option)
10 forefireiet, 5 fdirder
(B) O 6 km/h, 2 km/h (Correct Answer)
6 fodirder, 2 fdirder
(C) O 8km/h, 4 km/h
8 fopHil/eier, 4 fdirar
(D) O 4 km/h, 2 km/h
4 fpdirder, 2 fodider

Marks: 1.00
Bookmark
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Question No.8 Marks: 1.00
Bookmark

If the ages of son and his father 7 years ago were 7 years and 35 years, then the
difference between their ages 10 years later is:

g 7 99 gd G 3R I a1 Bt 31y HH=n: 7 I &R 35 af off, df 10 auf &g D! 3G
T 3R BIT:
(A) O 17 years
17 99
(B) O 28 years (Correct Answer) (Chosen option)
28 a9
(C) O 35years
35TY
(D) O 15 years
1594

Question No.9 Marks: 1.00
Bookmark

The distance of a point P(-3,6) from the origin is:
T A T fig P (-3,6) B gl &
(A) O 6cm
6 qu!
(B) O 3v5cm (Correct Answer) (Chosen option)
35 9+t

(C) O 9cm
o gt

(D) O 3cm
3 qet

Question No.10 Marks: 1.00
Bookmark

If the area of the sector of a circle of radius 10cm is% cm?, then find the angle of this

sector.

af% 10 & Bivw o 0 99 & UF Beads @ E&ﬁm—ar”:’” & 2. 79 o Breads @ S 7 Sl

(A) O 1150
115°

(B) O 210° (Correct Answer)
210°

(C) O 165° (Chosen option)
165°

(D) O 1900
190°

Question No.11 Marks: 1.00
Bookmark
In a class 20 children were sharing equally the cost of a present for their teacher. When
4 of them decided not to contribute, each of the other children had to pay Rs.1.50 more.
How many in rupees did the present cost?
T &1 20 I U e & o M U I Th SUGR DI ANT ! 1M R g A
TE I8 T 4 7 IS 81 <7 BT e fhan, @ 3 gt s &Y 1.50 U &7 sifafkad
YA AT UST| IUER B pdl ANTd T 12
(A) O 140
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140
(B) O 125
125
(C) O 100
100
(D) O 120 (Correct Answer) (Chosen option)
120
Question No.12 Marks: 1.00
Bookmark
Find the values of x and y if 3**Y=81 and 81%Y=3.
x T y & A J1d Bv, TS 3¥*Y=81 3fR 81*Y=3 3|
(A) O 11 15
=Y
g
S 3 SY=
BO 17 9
*T8 778
Bt
= gy
(€) O 17 11
=%
-
*=EYT3
D) O
() x= g ¥ = % (Correct Answer) (Chosen option)
& 55
S
Question No.13 Marks: 1.00
Bookmark

x3=8, 12 =81, y3 =3 and z2 = 0.09 in the given equations x, t, y and z represent which
of the following?

x3=8,12=81,y3 =3 3R 22 = 0.09 fau MU THiHU H, x, 1, y 3R z Fgfafea & I feam!
TeRid I 82

(A) O Rational, rational, rational, rational

(B) O lIrrational, rational, rational, irrational

(C) O lIrrational, irrational, irrational, irrational

(D) O Rational, rational, irrational, rational (Correct Answer) (Chosen option)

Question No.14 Marks: 1.00

Bookmark
The difference between the cost of putting a similar pathway around a circular park of
diameter 210 m and another park of diameter 224 m, if the vendor charges Rs. 75 per
metre is:

Ife T faohdT 75 TUT Ufd Hiex &t X A o1 ddT @ dl 210 Hiex 9 aTd T TAIPR Ul
3R 224 Hiex T 9T 3T MATDHR UTeh b U A R ! Tiee! fosM & forw
3T Tl Td & o9 BT 3R BN

(A) O Rs. 2700
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2700 ¥Utg
(B) O Rs. 3000
3000 ®UTq
(C) O Rs. 3600
3600 ®¥UT
(D) O Rs. 3300 (Correct Answer) (Chosen option)
3300 ¥U¢

Question No.15

The volume of the metal used in a cylindrical metallic pipe is 748cm3.The length of the
pipe is 14cm and external radius is 9cm. Find the thickness of the pipe.

TP JAIHR YT &b U H SXAHTA g1 dTelt UTg T STad- 748 413 g1 UTSU &1 alTs 14
It § SR T1ed) Frean o It B 1 TSy o1 Hiers I B
(A) O 2cm
2 et
(B) O 1cm (Correct Answer)
1 g+
(C) O 1.5cm (Chosen option)
1.5 T

(D) O 0.5cm
0.5 9Ht

Marks: 1.00
Bookmark

Question No.16

In 1980, Ravi was 8 times as old as Ram and Rahul was 3 times as old as Ram. Ravi is
20 years older than Rahul. How old was Ram in 19887
1980 T, 3fd, W q 8 AT TST UT 3R A, IH 3 A 71 9127 AT 3fA, AT F 20 99 &7
T| 1988 T IH Bt 3Y FT &i?
(A) O 14

14

(B) O 12 (Correct Answer) (Chosen option)
12

(C)O 4
4

(D) O 32
32

Marks: 1.00
Bookmark

Question No.17

If (x2-1) is a factor of ax*+bx3+cx2+dx+e, then which relation is valid for negative value
of x?
T (x2-1) , axt+bx3+cx2+dx+e BT UH UGS § Al x & THRIAD AF & g DHIF-T1
ey dY 82
(A) O atb+e=c+d
atb+e=c+d
(B) O a+c+e=b+d (Correct Answer) (Chosen option)
atcte=b+d
(C) O btctd=a+te
b+c+d=a+e
(D) O atb+c=d+e
atb+c=d+e

Marks: 1.00
Bookmark

Question No.18

A cuboidal accessories box has 80 identical beads, such that each bead occupies 0.81
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square cm of the base of the box and each bead occupies 3.24 cubic centimeters of
space. If the box is 10.4 cm long, then find the width and height of the room respectively.

1Y 3HR aTd Th TN S H 80 JHH Sigy 39 UHR g b Td® oS, e &
0.81 I T 3MYR P TR B 3R UAH &1 3.24 g9 JHeR IF H! W1 81 AfS Sy
10.4 YA a1 8, Al HH: B B! ASTs 3R ST J1d B
(A) O 6.23cm, 6cm

6.23 IHT, 6 I

(B) O 4 cm, 6.23 cm (Chosen option)
4 AT, 6.23 9T

(C)O 6cm,5cm
6 4T, 5 9T

(D) O 6.23 cm, 4 cm (Correct Answer)

6.23 Y, 4 A+

Question No.19 Marks: 1.00
Bookmark
If a, B,y are the three zeros of the cubic polynomial ax3+bx2+cx+d=0 where a + b + ¢ + d
=-16,a=-d,c=b-2aand d -2 =b. The value of a+,8+y‘is:
e a, B,y T TUS ax3+bx2+cx+d=0F A LAF 8, Sela+b+c+d=-16,a=-d, ¢
=b-2a3Rd-2=bglg+B+y BT A &
(A)O 3
3

(B) O 5/3 (Correct Answer)
5/3

(C)O 5
5

(D) O -5/3 (Chosen option)
-5/3

Question No.20 Marks: 1.00

Bookmark
Due to 30% fall in the price of Television sets there is a rise of 20% in the sales. How will
the income of the shop be affected?

THfaeH & Sl A 30 U< B fRTEE 3 W 39! fawht & 20 UfI=d &1 SgRR! g3
GPM ! T U {6 YR BT YHIG GS1?
(A) O 15% fall
15% HH!
(B) O 16% fall (Correct Answer) (Chosen option)
16% HHT
(C) O 16% rise
16% dfa
(D) O 17% fall
17% HH

GENERAL SCIENCE - GENERAL SCIENCE

Question No.1 Marks: 1.00

Bookmark
An electric fan works on the principle of :

Teh frqgaaTierd U 9 figid TR &1 el :
(A) O Ampere’s left hand rule
TR &1 aHgd a0
(B) O Fleming’s left hand rule (Correct Answer) (Chosen option)
FATHT 1 arTEw fraw
(C) ©O Ampere’s right hand rule
TR &1 cféuresd fAad
(D) O Fleming’s right hand rule
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Tt &1 g g

Question No.2

A helicopter directed towards east rises vertically with a speed of 12m/s. If the helicopter

has a length of 8m and horizontal component of the Earth’s magnetic field is 1.5 x 1073T,
then the emf induced between the tip of nose and tail of helicopter is:

7d B 3R FAERIT U RABIR, 12 MexAds B a1el & 1Y dedd sedl 81 AfS FelipioR
DI daTs 8 Hiex § 3R Jedt & a1y &3 &7 &fdS gew 1.5 x 103T 8, @l S BIIR & 3
3R Uy R (e 3iftp et 3R 2a) & o IRT STATD &
(A) O 0.18V

0.18V

(B) O 0.144V (Correct Answer)
0.144V

(C) O 1.5V (Chosen option)
1.5V

(D) O 0.15V
0.15V

Marks: 1.00
Bookmark

Question No.3

Which of the following are homogeneous in nature?
(i) ice (ii) fog (iii) soil (iv) air
T Y HH-I1 Upfd & ol g2

(i) S (ii) PIE (jif) ST (iv) ag
(A) O (i) and (iv)

(iii) 3R (iv)
(B) O (ii) and (iv) (Chosen option)

(i) 3R (iv)
(C) O (i) and (iii)

(i) 31 (i)
(D) O (i) and (iv) (Correct Answer)

(i) 3R (iv)

Marks: 1.00
Bookmark

Question No.4

Which of the following statements is CORRECT regarding health?
WY & Ay § Fafafad § § $H-91 HuT 98 67
(A) O Uncovered food is good for health.
T a1 g HioH Wared & oy 3131 i 81
(B) O Open food is good for health.
ga Hie A & o eres1 ST 81
(C) O Street food is good for health.
TSP [ aTell HioH (e 7S) gl & o srs1 giar 71

(D) O Covered and protected food is good for health. (Correct Answer) (Chosen
option)

THT g3 3R Tfera Hie WA & fore sres1 gt 8

Marks: 1.00
Bookmark

Question No.5

Which one of the following metals is a poor conductor of heat?
frafaRed § 9 SH-I U U1 S5 &1 g I 672
(A) O Pb (Correct Answer) (Chosen option)
Pb
(B) O Ag
Ag
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(C)O Cu
Cu

(D) O Al
Al

Question No.6 Marks: 1.00

Bookmark
The ratio between average velocity and average speed is always

3T T 3R 3N A1l & o BT U Fed g gl '
(A) O more than 1
1 3w

(B) O either equal to 1 or less than 1 (Correct Answer)
Tl 1 S RS AT1 4 $H

(C) O less than 1 only (Chosen option)
19 HH

(D) O equalto 1
1% SRR

Question No.7 Marks: 1.00

Bookmark
Rohit found that raising a metal block inside a liquid is easier than raising it through the
same height in the air because:

Afed A urn b [Pt R & HidR T Uifdss =T Bl IoMT, FAM SIS I gaT 1 3o
3HfYe S gia § i

(A) O The buoyant force acting on the body is less in liquid than in air. (Chosen
option)
T IR T aTa SATREd® §d, §aT BI 37U IRA H HH i1 |

(B) O Inside the liquid, no gravitational force is acting on the body.

RA P IR, F13 W TEarwHyur 9a Fer R H1lkd 761 @idr 8|

(C) O The buoyant force acting on the body is greater in liquid than in air.
(Correct Answer)

1T IR T 9191 SRS 94, §91 B 3UeT ava H Sif¥® giar 21

(D) O Inside the liquid, the gravitational force is more.

R & R, Ry a7 31 g 2|

Question No.8 Marks: 1.00

Bookmark
The exposure of AgBr to sunlight for a long duration turns grey due to:

T TG dF YU F AgBr BT UHTEH, TP HRUT IR () H & o1l 6:
(A) © Decomposition of Bry from AgBr
AgBr ¥ Br, $T 3{UdcH

(B) O Oxidation of AgBr
AgBr &1 SiRITHRT
(C) O Formation of silver by decomposition of AgBr (Correct Answer) (Chosen
option
Aprr )%? 3UHe gRT gidl & fafor
(D) O Sublimation of AgBr
AgBr 13

Question No.9 Marks: 1.00

Bookmark
Which of the following statements is INCORRECT regarding metals?

frofafaa § § HF-31 HYF urgel & Yay & Tad 72
(A) O All metal carbonates react with acids to give salt, water and CO,. (Chosen
option)
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(D) O Some non-metal oxides react with water to give acids.

TS YT SATRATS, 3T B &7 & o o1 & 1 Mffpan et B

View Question Paper
Tt 41g Hrafe, Taul, T R CO, G & g 3t o |1y ufafehdn dehl ol
(B) O All metal oxides react with water to give salt and acid. (Correct Answer)
Tt T RIS, AT SR 3 31 & I o1a & A1y Sifforar #vd €1

(C) O Some metals react with acids to give salt and hydrogen.

$S YU, AT 3R BIESIoH S & fog it & ary fafsrar ot g

Question No.10 Marks: 1.00
Bookmark
Which of the following is NOT a transverse wave?
FrofifRd 3 § 3-8 U U T e 87
(A) O Sound wave (Correct Answer) (Chosen option)
T
(B) O Light wave
YBTR R
(C) O Radio wave
e &
(D) O Microwave
Question No.11 Marks: 1.00
Bookmark
Choose the worm that causes the Elephantiasis disease
grdiuig (uferh feuf) R IUd HA aret HiH &1 99 B
(A) O Wuchereria (Correct Answer)
(B) O Taenia
S
(C) O Ascaris
(D) O Planaria (Chosen option)
Question No.12 Marks: 1.00
Bookmark
The process by which Amoeba acquires its food is known as:
ST ST HioiH forey Ufehan & UTed F_ll €, I 39 U H o1 9Tl o:
(A) O Plasmolysis
(B) O Phagocytosis (Correct Answer)
DRI
(C) O Exocytosis
§fg: TRRUT (VRIS CIR)
(D) O Endocytosis (Chosen option)
3{d:DIRIDB T ( TSHTSCIRT )
Question No.13 Marks: 1.00
Bookmark

Free living cells were first discovered by:

1A SHifad DIRIDT B Wil GauH fore- Bi?
(A) O Louis Pasteur

Ts IR
(B) O Robert Hooke
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(C) O Antony van Leeuwenhoek (Correct Answer) (Chosen option)
. a’H A4

(D) O Robert Brown
RECEIRE]

Question No.14 Marks: 1.00
Bookmark

The teacher asked a student to choose from the following organic compounds that would
undergo substitution reaction?

e 3 T B A FfaRad srdfe Dol § ¥ g7 & e s st ufawimae i
BB oIRT?

(A) O Ethylene (Chosen option)

(B) O Ethane (Correct Answer)
T

(C) O Propyne

(D) O Propene

Question No.15 Marks: 1.00
Bookmark

Which group of animals are free living marine animals with spiny skin and have hard
calcium carbonate structures that they use as a skeleton?

Gl = e U3t T HIA-T St S arar 19 § SR 9% U B3R
WW@{dde%&ﬂmeE%Wm%?
(A) O Annelida
@AfersT)
(B) O Mollusca
JUIIAR (HIerahT)

(C) O Porifera
QIR

(D) O Echinodermata (Correct Answer) (Chosen option)

(TPTSAISHET)

Question No.16 Marks: 1.00
Bookmark

If the near point of a person is 50 cm, then the focal length of the spectacle he used
would be:

ofe; fret safd &1 e faig 50 A B, Y TP gRT ITANT fbT O ATt Wideeba (I<H)
B BT g B
(A) O 0.5 cm (Chosen option)

0.5 Gt

(B) O 25cm
25 94t
(C) O 50 cm (Correct Answer)

50 Tt

(D) O 5cm
5 JHt

Question No.17 Marks: 1.00
Bookmark

Why does that portion of the silver plate turn black where a piece of boiled egg is
placed?
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(A) O Due to the formation of silver nitrate

RyeeR gee & fAafor & HRu

(B) O Due to the formation of silver sulphide (Correct Answer)

Ricax ep1gs & Ao F RO

(C) O Due to the formation of silver chloride

ReR TR & A & HRUT

(D) O Due to the formation of silver metal (Chosen option)

IoId YT & AT & HIROT

Tic] 1 IR DT I8 [oedT | HIaT US Sl §, STaf 39 gU S BT Th h Sl T oIl 872

Question No.18

The temperature of the earth is maintained by the atmosphere because:
gt T ATIE, TR ¥ SRIE giaT § it
(A) O Water vapour is present in the atmosphere
TR0 H STeary HiGG gidT gl
(B) O The atmosphere reflects the heat rays
JIATARUT 5] fahrol BT TRIafdd Bl 6|
(C) O The atmosphere holds air (Correct Answer)
qraTaRul ¥ Ay gl 81

(D) O Heat rays are absorbed by the atmosphere (Chosen option)
qrgHEd GRT ST fhR0T &1 Sfa=nfid fasar ST |

Marks: 1.00
Bookmark

Question No.19

Which of the following is NOT an example of biomass energy source?

fafaRad & @ SH-91 51 S Sol Al BT Th IS0 A8l 67
(A) O Wood
Sk
(B) O Nucleus of an atom (Correct Answer)
TP URHTY] BT A1FHE
(C) O Manure

(D) O Human waste (Chosen option)

Mg Uiy

Marks: 1.00
Bookmark

Question No.20

Name the organ where cuboidal epithelium forms the lining and provides mechanical
support.

I 3T BT 1 FATST S8t TTH IJUSAT SRR 1 & SR FifAe Tgrdl UeH ! ¢
(A) O Blood vessels
o dIfghrd
(B) O Lung alveoli (Chosen option)
ST PiuwT (e
(C) O Kidney tubules (Correct Answer)
b AfBTg
(D) O Intestine
37d

Marks: 1.00
Bookmark
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